

Ajouter et Soustraire Deux Fractions Mixtes (C)

Nom: _____

Date: _____

Note: _____

Calculez chaque résultat.

$$1. \quad 7\frac{3}{4} + 5\frac{7}{12} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$2. \quad 1\frac{5}{8} + 4\frac{12}{16} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$3. \quad 2\frac{8}{9} + 4\frac{1}{3} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$4. \quad 5\frac{3}{10} - \frac{1}{2} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$5. \quad 4\frac{2}{6} - 2\frac{2}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$6. \quad 9\frac{7}{8} + 4\frac{1}{2} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$7. \quad 6\frac{1}{3} - 1\frac{8}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$8. \quad 5\frac{3}{9} + 1\frac{1}{3} = \underline{\quad} + \underline{\quad} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$9. \quad 9\frac{9}{14} - \frac{5}{7} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$10. \quad 9\frac{8}{9} - \frac{2}{18} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$$

Ajouter et Soustraire Deux Fractions Mixtes (C) Réponses

Nom: _____

Date: _____

Note: _____

Calculez chaque résultat.

$$1. \quad 7\frac{3}{4} + 5\frac{7}{12} = \frac{31}{4} + \frac{67}{12} = \frac{93}{12} + \frac{67}{12} = \frac{160}{12} = \frac{40}{3} = 13\frac{1}{3}$$

$$2. \quad 1\frac{5}{8} + 4\frac{12}{16} = \frac{13}{8} + \frac{76}{16} = \frac{26}{16} + \frac{76}{16} = \frac{102}{16} = \frac{51}{8} = 6\frac{3}{8}$$

$$3. \quad 2\frac{8}{9} + 4\frac{1}{3} = \frac{26}{9} + \frac{13}{3} = \frac{26}{9} + \frac{39}{9} = \frac{65}{9} = 7\frac{2}{9}$$

$$4. \quad 5\frac{3}{10} - \frac{1}{2} = \frac{53}{10} - \frac{1}{2} = \frac{53}{10} - \frac{5}{10} = \frac{48}{10} = \frac{24}{5} = 4\frac{4}{5}$$

$$5. \quad 4\frac{2}{6} - 2\frac{2}{3} = \frac{26}{6} - \frac{8}{3} = \frac{26}{6} - \frac{16}{6} = \frac{10}{6} = \frac{5}{3} = 1\frac{2}{3}$$

$$6. \quad 9\frac{7}{8} + 4\frac{1}{2} = \frac{79}{8} + \frac{9}{2} = \frac{79}{8} + \frac{36}{8} = \frac{115}{8} = 14\frac{3}{8}$$

$$7. \quad 6\frac{1}{3} - 1\frac{8}{9} = \frac{19}{3} - \frac{17}{9} = \frac{57}{9} - \frac{17}{9} = \frac{40}{9} = 4\frac{4}{9}$$

$$8. \quad 5\frac{3}{9} + 1\frac{1}{3} = \frac{48}{9} + \frac{4}{3} = \frac{48}{9} + \frac{12}{9} = \frac{60}{9} = \frac{20}{3} = 6\frac{2}{3}$$

$$9. \quad 9\frac{9}{14} - \frac{5}{7} = \frac{135}{14} - \frac{5}{7} = \frac{135}{14} - \frac{10}{14} = \frac{125}{14} = 8\frac{13}{14}$$

$$10. \quad 9\frac{8}{9} - \frac{2}{18} = \frac{89}{9} - \frac{2}{18} = \frac{178}{18} - \frac{2}{18} = \frac{176}{18} = \frac{88}{9} = 9\frac{7}{9}$$